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1 Choose the most appropriate word from the given alternatives which bears the same relationship with the third word,
as the first two bear.
Mountain: Hill: :Tree: ?
(A) Leaf (B)  Shrub
(C) Forest (D) Rain
(E)  Question not attempted

e fo T forspedl # € et 21 W1eal o HREY o TR A 3168 o forg i o e et @ wad 3uges wes g

qad: Ugrs: :a?—}’:?
(A) Tl (B)  wiear
(C) e (D) ot
(E) raRauy

2 Choose the odd one out.
(A) Korea (B) Poland
(C)  Greece (D)  France
(E)  Question not attempted
forerm sht =2 R
(A) =ifEn (B) UiS
(c) w= (D) |
(E) SFfdiays

3 If in a certain code, O is writtenas L, Aas H,M asI,SasF,NasT,Eas S,I as A, P as G and C as E, then how will
COMPANIES be written in that code?
g frf e T O L,ABH,MHI L, SH F,NHIT,EHS, [HI A, PHI G U CHl E @ smar g, arsa e d

COMPANIES ! 8 forat simam?
(A) ELIGHSBSF (B) ELGHITASF
(C) ELIGHATFS (D) ELIGHTASF

(E)  Question not attempted / 3T EVRSE )

4 The state bird of Rajasthan is
(A) Indian Roller (B)  Peacock

(C)  Godawan ( Great Indian bustard ) (D)  Blue Jay
(E)  Question not attempted
TSTETH 1 T3 Ut 1 a1 82
(A)  IRAT T’ (B) HR
(C)  Tiemam (e AT awes) (D) e
(E) oFfdia s
5 Which of the following peaks of Aravali Ranges is the highest?
(A)  Gurushikhar (B)  Raghunathgarh
(C) Jagra (D) Kamalnath

(E)  Question not attempted

T @ o frfcTiad et § ge® el =rel i € 8?

(A) TEREER (B) TG
(C) S (D)  HEATT
(E)  oFdia sy
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6 ‘Kalisindh Thermal Power Project’ is located in which of the following areas of Rajasthan? (Choose the most
appropriate option from below)
(A)  Jhalawar (B) Bikaner
(C) Barmer (D) Kota
(E)  Question not attempted

SHTeTTeeer AT St afsEr fefaiad 3 & e o forg am 7 ferd 82 (e 3 & et Ipes forpe =)

(A)  FETS (B) s
(C) dTEH (D)  whiaT
(E) raRauy

7 Given below are two statements:

Statement (I) : Gram is grown as “Rabi” crop in Rajasthan.

Statement (II) : Oilseeds are grown both in “Rabi” and “Kharif” seasons in Rajasthan.
In light of the above statements, choose the most appropriate answer from the options given below.
(A)  Both Statement (I) and Statement (II) are correct.

(B)  Both Statement (I) and Statement (II) are incorrect.

(C)  Statement (I) is correct but Statement (II) is incorrect.

(D)  Statement (I) is incorrect but Statement (II) is correct.

(E)  Question not attempted

frr g1 e feg e :

HAT (1) : AT TSI H “Tefl” BOe & &9 T ST ST 2

R (1) : et Toee &« SR “Ti%” IH1 Hiee H 3 ST &

ST FHHT o6 AT H, = fu 1 foepedt & & waffre 3ug S ol

(A) A (1) I HA (1) SHT T 2 (B) &Y (I) R HYT (1) SHT Terdt 2
(C) &I (1) Tt & Ak e (1) TTeTd 2l (D) A (1) TTeTd & feh e (11) 9t 2
(E) 31 gy
8 For the sentence given, choose the most appropriate answer in the passive voice from the options below:
My sister baked a cake.

(A) A cake had been baked by my sister.
(B) A cake is being baked by my sister.
(C) A cake was baked by my sister.

(D) A cake was being baked by my sister.
(E)  Question not attempted

9 Complete the given sentence choosing the most appropriate word from the options below:
My brother is in the Indian Foreign Services and can speak many languages. He is a
(A)  Pessimist (B) Polyglot
(C)  Philatelist (D) Linguist
(E)  Question not attempted

10 Complete the given sentence choosing the most appropriate word from the options below:

She remarked that she annoyed with him for his lack of sympathy for the victim.
(A)  will feel (B) felt
(C) feeling (D) feel

(E)  Question not attempted
Al15]  $¢ 3 [ P.T.O.



11 Which of the following is not a medicinal plant?
(A)  Emblica officinalis (B)  Curcuma longa
(C)  Corchorus capsularis (D)  Ocimum sanctum

(E)  Question not attempted

ffafiaa 5 @ -1 siwefe o 78 22

(A)  FalcTH] SATTHEATITE (B) FFHT AN
(C)  HRERE FgAH (D)  3Aifemm Gagh
(E)  oFeia

12 Which part from ‘ashvagandha’ plant is used to make medicines?
(A) Flowers (B)  Shoots
(C) Leaves (D)  Roots
(E)  Question not attempted

ST Y o o T T SURINT TS At ST ) SURINT foRaT STt 82

(A)  FAIH (B) &t
(C) ufwi e (D) I H
(E)  oFdia s
13 Natural rubber is a polymer of:
(A)  Ethylene (B) Isoprene
(C)  Ethene (D) Butadiene
(E)  Question not attempted
TR fcieh T feRwrshT Wk difera 87
(A) 3Pl (B) I
©) 3 (D)  SeTSTE
(E)  oFeia
14 After Independence three states in Rajputana acceded to the Indian Union through the-
(A) Instrument of Obligation (B) Instrument of Accession
(C)  Instrument of Integration (D)  Accession Instrument League
(E)  Question not attempted
SR AT AT oh T, TSTAT o6 A TSt aht I T 6o 7 forer o ded feham Tl
(A)  THZHE 3T SHifserem (B)  THZH 3% T
(C)  THZHZ 3T F2HTH (D) T ggh=E i
(E)  oFdia

15 Which of the following is an institutional factor of agriculture which influences the pattern and productivity of

agriculture?
(A)  Size of the holding of fields (B)  Topography
(C)  Chemical Fertilisers (D)  Crop Insurance

(E)  Question not attempted

FrfeTiad o & S o1 SHIH-HT HEATTT e, Y hl ScATaehAT ST ITET I T LT &2

(A)  3TefiTE Y &5 T AR (B)  TUTHfd
(C) Ttk 4 (D) e sHT
(E)  oFdia w

Al15]  $¢ 4 [ P.T.O.



16 ‘Narma’ is associated with which crop in Rajasthan?
(A) Jute (B) Cotton
(C) Tea (D) Coffee
(E)  Question not attempted

T TSTEA sl fohe FHeT © GraTfard 82

(A) (B) U™
(€ =™ (D) =i
() SFfaiayy

17 Which of the following statements is not correct about the Darjeeling and Sikkim Himalayas?
(A) Itisaregion of high mountains peaks.
(B)  This region has well distributed rainfall throughout the years.
(C)  They are flanked by Nepal Himalayas in the West and Bhutan Himalayas in the East.
(D)  The higher reaches of this region are inhabited by Monpa.
(E)  Question not attempted

FrfsifeiT 37t fafoer fermera & I & T & & 60 |1 o welt 7 22
(A) I8 =9 vdd I o1 &7 7l

(B) 39 & H oy v aui o= TR & forafid R

(C) A ufzm o Juret fewmer 3 g # ye fewres & fore &

(D) 9 & o oo TIMT 9T AT o7 FHame 2

(B) 3qd e

18 Who describes Prime Minister as “Primus inter pares” (First among equals) and “key stone of the Cabinet arch”?
(A) Raunsary Muir (B)  Lord Morely
(C) H.J. Laski (D)  Munro

(E)  Question not attempted

ToREr T ST 2T “WTeHE et U™ (Hehall H Eer ST T8 aTeT) FI “shise o T &w” & &9 § ivid [H1?

(A)  TFRAR (B) TS AR
(C) TAS, oATEh (D) T
(E) SFfdia s

19 Who was the first Lokayukta of Rajasthan?
(A)  Justice Pratap Krishna Lohra (B)  Justice S.S. Kothari
(C)  Justice I.D. Dua (D)  Justice J.L. Gupta
(E)  Question not attempted
TSTET % ToW AR i A2
(A)  SIReH TaTd o7 AR (B) SIfd TH.UH. HISHT
(C) SifkeH AL g (D) SIf® SI.Uet. T
(E)  oFdita

20  What is the tenure of the Chairperson and Members of the Rajasthan Human Rights Commission?
(A) 5 Years or upto 70 years of age whichever is earlier
(B) 3 Years or upto 70 years of age whichever is earlier
(C) 5 Years or upto 65 years of age whichever is earlier
(D) 3 Years or upto 65 years of age whichever is earlier
(E)  Question not attempted

T[STEAT AHTTRT ST 3 STEAe] TUT USEA! ol Shiehle] fohdHT BIdT 87

(A)  5TEAT70 3 Hif Y A S i T & (B) 33770 I i AT qaF it +ft v &
(C) 5Tt 65 o i 31 % S +ff vt & (D) 3T 65 o fi 3T 7 S +ff veet &
() SFfaiays
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21 Who among the following was the first woman Governor of the state of Rajasthan?
(A) Kamla Beniwal (B)  Pratibha Patil
(C)  Prabha Rau (D) Margret Alva

(E)  Question not attempted
frefaRad & & Tseu™ Tsa it gom At TSt (M) wiF - off?

(A) O ST (B)  ferr urfeet
(C) w9 (D) HTRE 37T
() SFgdiays
22 The Planning Commission of India was formed on
(A) 26" January 1950 (B) 15" March 1950
(C)  IstJanuary 2015 (D) 27 QOctober 1950

(E)  Question not attempted

T 3 FISIHT ST T 13T 1 gAT M|

(A) 263 1950 (B)  159T€ 1950
(C) 1SHad 2015 (D) 2 3FFR 1950
(E)  oFia w

23 Vergheese Kurien is known as the father of which revolution in India ?
(A)  White Revolution (B)  Blue Revolution
(C)  Green Revolution (D)  Red Revolution

(E)  Question not attempted

TSt T Bl AR | T Shifer o Sk o &9 H ST ST 82

(A) & shifd (B) el swifer
(C) =i sifa (D) AR (W) shifd
() orgaiays

24 Rakesh spends 80% of his income. If his income is increased by 14% and saving decreases by 15%, then what will
be percentage increase in his expenditure?

TR SATHT 31T T 80% T AT =l AT IEhT AT 14% § g STt & 3T = 15% | 9 Sl 2, a1 38k @ § feha

wfererd afg gnfio
(A)  20% (B) 21.25%
C)  2225% (D)  25%

(E)  Question not attempted / 377 ERSE )

25 If ‘m’ is proportional to ‘n’ and m = 5 when n = 4, then what is the value of m when n =20?
Ife ‘m’ & n’ H‘H‘I’:ﬁTﬁﬁﬁﬁf@m=5 S n=4 E\T, S n=20 B as mwu@w%ﬁw
(A) 28 (B) 225
© 25 (D) 20
(E)  Question not attempted / 3‘1@?‘1’?{?{ i)
26 The length of a cold storage is double its breadth. Its height is 3m. The area of its four walls (including the doors) is
108 m?. Find its volume.
T it HERTR oAl SIS SEehl <1gTs ¥ g1 81 SEeh! S5eITS 3m &) FHoh! IR S (SLaITSI 2hl A ) T &hel
108 m? 2| SHEHT ST 1 FHifoT)
(A) 2l6m? (B) 225m?
(©) 125m? (D) 256m?
(E)  Question not attempted / S:EIDH'F{_CT )
Al15]  $¢ 6 [ P.T.O.



27 Choose the odd one out.

(A) Congregate (B) Disperse

(C)  Aggregate (D)  Accumulate
(E)  Question not attempted

forem a1 == R

(A)  TeA AT B) faa-faawamr
(C) Hehford (D) wfud T
(E)  oFdia g

28 There are five friends — Sachin, Kamal, Mohan, Arun and Ram. Sachin is shorter than Kamal, but taller than Ram.
Mohan is the tallest. Arun is a little shorter than Kamal and a little taller than Sachin.
Who is the second tallest?
(A) Ram (B)  Sachin
(C) Kamal (D)  Arun
(E)  Question not attempted

i< e 8- |fe, e, Higd, 37807 37T TH| G 1 e hAcd 9 BIET R, T UH § 127 8| HIgT ol ohe Geldl el 8| 37807 ahl

% U § ST HH 8 3R | & T T 2

e H U e ST I &2

(A) ™ (B) @
(C) =9 (D)  3T&W
(E) oFfdia s

29  Which of the following words will come second in the English dictionary?
SIS SrsgshieT H Frfetiiae o & i @1 I7oq TH e 0T STTT?
(A) Magnetic (B) Magical
(C) Maternal (D)  Magnify
(E)  Question not attempted / E@Hﬁﬁ B

30 Chandoli was declared as National Park in 2004. It is located in which Indian state?
(A)  West Bengal (B) Meghalaya
(C) Maharashtra (D) Haryana
(E)  Question not attempted

2004 T Trcledt st T FE S fohm T o I 9 & i 8 TS § 22

(A)  ufsm st (B) HEeH
(€) weRTZ (D)  Efmm
(E)  oFdia
31 Which state assembly passed a bill to provide reservation in state government jobs for SC, ST, OBC and EWS from
60% to 77%?
(A) Kerala (B)  Jharkhand
(C)  West Bengal (D)  Andhra Pradesh

(E)  Question not attempted
Tore T i forermreraT < TS weehr sht ki H e Y, T A, S o, . SRS, oo, UH. STRET I 60% W TG 77%

T < T fererres T foram?

(A) wA (B) dwr@se
(C)  ufsm st (D) ST IRT
(E) oFfdia s

Al15]  $¢ 7 [ P.T.O.



32 Which of the following articles empowers the parliament to legislate on any matter enumerated in the state list in the
national interest, if the resolution is passed by the Rajya Sabha with a 2/3 majority of members present in the house
and voting? (Choose the most appropriate option from below)

(A) Article 54 (B)  Article 249

(C)  Article 312 (D)  Article 360

(E)  Question not attempted

frfafad & & 1 @1 o= due i T fod o g gt § wfiet foret ff Aol T T S o AR o 8, Ate
STEATS T || ST e H 3UTEerd el R AqeH % 2/3 SEHd o |1 qTia foha STt &1 (e | & werdt 393 forsheq

)
(A)  3FT=T 54 (B) =3 249
(C) 3FF=aT 312 (D)  3TT=T 360
(E) oFfdia s
33 frefaRad wwesi 7 316 fofiaa wree 2-
a.  JfEew b.  IUTE™
c. ELy d. Hitg
e. Fresror
et fow T fershedt @ waffares 3ug ST 1 =g il
(A) Hada3Ab (B) waab3iRc
(C) FadafNe (D) FaddaIARd
(E) Siarays
34 O O el i wE foriard 8-
a.  TEdr b. O
c.  Toretear d. &
e. Geraar
et fow e foreredl o & aTfares IUG S H T KIS
(A) FHaAc,d3Ne (B) wacTa, b3fNe
(C) Fade, d3AR b (D) adc,d3ARa
() oFfdia s
35 wforam o forw 1o o STaw fedt T o stTeT 22
(A) T 343 (B) 31=9% 243
(C)  3TT=eE 234 (D)  3TT=eq 283
(E) oFfdia s

36 Given below are two statements:
Statement (I) : ‘KARYA’ is a program of department of science and technology, government of Rajasthan.
Statement (II) : ‘KARYA” aims to provide short term research opportunities to students of basic sciences at graduate
level only.
In light of the above statements, choose the most appropriate answer from the options given below:
(A)  Both Statement (I) and Statement (IT) are correct.
(B)  Both Statement (I) and Statement (II) are incorrect.
(C)  Statement (I) is correct but Statement (II) is incorrect.
(D)  Statement (I) is incorrect but Statement (II) is correct.
(E)  Question not attempted

FegrweA e d

HUT - I : FR(KARYA) fom vaf Trenfiehl ferm, T Tweh T Uah T 2

A - 11 : F1 (KARY A) FT A& helet TIqe o ST b =Tt foriit o &7 Fifereh 9iTer STarei 1 & et 2
IRIH FHT o AT H Frfoiad foehedl § 8 gaffass 3ugw ST o :

(A) A (1) 3R HeH (11) ST T 2 (B) & (I) e (11) SHT 7T &l
(C) oM (1) & 2 T e (I1) e 2 (D) e (1) Tea & foreg oM (1) &= 2
(E)  oFdia s

Al15]  $¢ 8 [ P.T.O.



37

Diesel engine converts energy from . (Choose the most appropriate option from below)

(A)  Chemical energy to mechanical energy (B)  Chemical energy to electric energy
(C)  Electric energy to sound energy (D)  Nuclear energy to electric energy
(E)  Question not attempted

SIS aftafdd st 21 (e 7 & wod 39 foeed )

(A)  HUheT STt | Hehehel Sotl (B)  hftrheT 311 | Soiforgeh St

(C)  AfReeh STl & HISE Sl (D)  fTa STt & geATorgeh sl

(E)  oFdia u

Read the passage and answer questions 38 to 41 :

38

39

AlS]

“Stress”

All people have some stress in their lives. A little stress makes life interesting, and keeps you on your toes.
However, too much stress can be unhealthy. You may find your life becoming stressful whenever there are changes
in your environment, in your relationships, or in the demands you put on yourself.

Stress can also be caused by good things in your life, such as getting a new job, moving to a new place, or
getting married.

How can you tell when your life is getting too “stressful”? You will probably find yourself always feeling
rushed, as though you must hurry everywhere you go. There is never enough time to do everyting that you need to do.
You may find yourself walking, talking, and eating more quickly than usual.

Besides causing emotional problems, stress can also cause real physical problems. If you have too much stress
in your life, you may suffer from stomach problems, headaches or neck and shoulder pain.

Prevention is the best way to deal with stress. First of all, be organized- there is nothing so stressful as a
disorganized life. Put your life and your surroundings (your home, apartment or desk at work or school) in order.
Don’t procrastinate. Stop putting things off. Do what needs to be done today. On the other hand, don’t always feel
that you have to do everyting right now. Learn to say “no” to activities and commitments that will only add more
stress to your life. Remember that you are only human, and that you can only do one thing at a time.

Learn to relax. Slow down. Take a break or a walk when you feel yourself getting stressed. Find a hobby that
you enjoy. Reading, listening to music or creating something with your hands are all great ways to bring some peace
to a hectic life. Learn to laugh at yourself and your life. Try to look on the bright side of life. Even when things seem

pretty dark and stressful, there is usually a place for some humor and a smile.

What may cause stress? (Choose the most appropriate option from below)
(A)  When you make changes in the demands you put on yourself.

(B)  When you relax and meditate.

(C)  When you do Yoga.

(D)  When you go on vacation with friends.

(E)  Question not attempted

How to tell if you are too stressed out ? (Choose the most appropriate option from below)
(A)  You feel full of energy and josh.

(B)  You run short of time to do all you need to do.

(C)  You have time to volunteer for many social work.

(D)  You are relaxed and take life easy.

(E)  Question not attempted

e 9 [ P.T.O.



40 What is one of the appropriate way to manage stress? (Choose the most appropriate option from below)
(A)  Plan and organise your work.
(B)  Rush all the activities you do.
(C)  Take on many assignments together.
(D) Do everything by yourself and avoid delegation of work.
(E)  Question not attempted

41 Choose the most appropriate meaning of the idiom “to be on your toes” from the options below:
(A)  Putting things off (B)  Look on the bright side
(C) Take a break (D)  be alert and ready for anything
(E)  Question not attempted

42 Who was known as ‘ Frontier Gandhi’?
(A) Mahatma Gandhi (B)  Sardar Patel
(C)  Khan Abdul Gaffar Khan (D)  Mohd. Rasooq

(E)  Question not attempted
“ftmiq iefy & T & foRer ST St oo

(A)  HETCHT el (B) W@RUH
(C) T 3Fogel THER TH (D) HIEHTE TF
() oFfdiaus

43 If CAT =48, then MOUSE is equal to:
afg CAT = 48 &, @ MOUSE & SRTe 3T 82
(A) 142 (B) 146
(C) 148 (D) 138
(E)  Question not attempted / 311?!'?{?[ aq

44 Ranjan travelled 15 km northward, then turned right and travelled 10 km, then turned left and travelled 20 km, then
turned left and travelled 10 km. How far was Ranjan from the starting point?
(A)  30km (B) 25km
(C) 35km (D) 45km
(E)  Question not attempted
TS I T AR 15 TohwT T, 38k TG 3Tie a0 TS 10 TRt =1, 36k a1 it ST et 20 ForwT =rer, deded, st
T TRt 10 Tereft eh <l TS 370 TIifreh foig & fehert 0 e ug=m?

(A) 30 Tt (B) 25 Tt
(C) 35 forrft (D) 45 forrft
() SFfdiaus

45 A group of girls stands in a single line. One girl is nineteenth in order from both the ends. How many girls are there
in the class?
BT T Toh THE T T3 § WS 8| ST ohA T & Toh BT 19 o 360 H T 21 3hefl & e fohal ST 22
(A) 40 (B) 38
(©) 35 (D) 37
(E)  Question not attempted / S:EIDH'F{_CT B

Al15]  $¢ 10 [ P.T.O.
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Which of the following rivers is the largest tributary of Indus river?

(A)  The Satluj (B)  The Beas
(C)  The Chenab (D)  The Jhelum
(E)  Question not attempted

T 7t o Her S e 4 (2R H-H 22

(A) gags (B) ==

(C) =M (D) @

(E) oFfdiays

Where is the famous Sikh Shrine ‘Hemkund Sahib’ located?

(A)  Garhwal Himalayas (B) Kumaon Himalayas
(C)  Sikkim Himalayas (D)  Zanskar Himalayas

(E)  Question not attempted

v, e e enshe Hifes el ferd 22

(A) TgaTS feATe™ (B) FATS: fewmer

(€) Tufrrn femrer (D)  STieaRt femmer™

(E)  oFdia w

Sewan, Dhaman and Karad are .

(A)  Types of folk dances (B)  Desert soils

(C)  Types of grasses (D)  Types of Rajasthani painting forms
(E)  Question not attempted

CEEREEE R T A

(A) @I T & TR (B)  TREIA R

(C) ®TE % YR (D) Tt fesehatT (4fd) 9 % YR
(E)  oFeia

The perimeter of a rectangle is 90 m. If its length is twice its breadth, then its area is:

T 717 bl THATT 90 m 21 T SHehl SEsiTE =SS & AT <, ol $eehT &fthe &:

(A) 450 m® (B) 380m’

(C) 460 m’ (D) 420m’

(E)  Question not attempted / ?:ﬂﬂﬁﬁ EE

The average monthly income of ‘A’ and ‘B’ is ¥ 6,000, that of ‘B’ and ‘C” is ¥ 5,500 and that of ‘A’ and ‘C’ is ¥ 5250.

What is ‘A’’s monthly income?

A FR B I 3TEd W 3T % 6,000 8, B T C T 3f|d ATfEe 319 R 5,500 AR A 3R C HiT f9a Afees 31
5,250 %, T A Y HTfEeh STRT T B2

(A) 6,250 (B) 6,450

(C) 5,750 (D) 6,200

(E)  Question not attempted / ﬂaﬁ'ﬁlﬁ EE)

‘A’ borrows a sum of ¥ 2000 from his friend ‘B’ on 31 December 2011 on the condition that he will return the same
after one year with simple interest at 8% per annum. However ‘A’ gets into a position of returning the money on 1

July 2012. How much interest amount he has to pay to ‘B’?

A 379 T B & 31 fewwsik 2011 367 2 2000 SR T @ fSrerehl 97 @ foh a1 ek o si1g 8% anftieh Temor <A1t & 38 9w
AT L QT AT A 39 TR T 1 S[ATE 2012 1 ATTH L ST &) 37 34 B 3l Tohd1 s37ef o1 wem?

(A) 80 B) %90

(C) %100 (D) T120

(E)  Question not attempted / ﬂaﬁ'ﬁlﬁ EE)

e 11 [ P.T.O.
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FfcTRaa 5 § for Seat 7 Wi 3ot 1 T=nT 82

a. & b. T

c. UYEOR d.  vfd®r

e. It
et fau e foreredi & & warfferes 3ug ST -
(A) Hadc,d 3 e (B) wadia,d3fNe
(C) ada,b3c (D) HaAb, c AN d
(E) raRauy
e 1 3 1 aaE 3ug [ wree T
(A) o7 (B) fore
© @= D) g™
(E)  oFeia
S am o, =, @, qv, AT 3N W 2, T8 69 orm fog 1 =T grar 22
(A)  Fafm (B) quifor™
(C) e fug (D) 3Sswfag
(E)  oFdia s
Frer gt e fiumu

HAT - 1 T =T 5o 01 B
FAT-11: 3 T IoaioT M A1 2
ST AT o AT H HHIRE foehed! § 8 Fafiere Iage Saa :

(A) U I ST ST e 8 (B) e [ 37 11 ST 318 &

(C) FFIFAE, b FoF 11 JHA 2l (D) FFIEAT, fFqFA T
(E) oFaia

Which of the following are two cash crops of Rajasthan?

(A)  Cotton and Tobacco (B)  Wheat and Rice

(C) Bajra and Coriander (D) Barley and oil seeds

(E)  Question not attempted

Frefaftad & @ =i =i Tere i 3 Tohe vEd 82

(A) I IR qeTR (B) T iR =
(C)  SITSRT 3T g (D) S AR ferete
(E) oFfdiaus

Indira Gandhi Canal ends in which of the following districts of Rajasthan?
(A)  Jodhpur (B) Jaisalmer
(C)  Bharatpur (D)  Udaipur

(E)  Question not attempted

gfey mieft Tex fmferftaa & @ wetea™ & forg et & wwme St 22

(A) SER (B) SEeR

(€) wER (D) 3L

(E) orfdia s

Which city is known as ‘Food Basket of Rajasthan’?

(A)  Alwar (B)  Sri Ganganagar
(C) Bikaner (D)  Ajmer

(E)  Question not attempted
3re T8 T “TSTETE T @1 IR & ®9 § STHET ST 27

(A) I (B) I TR
(C) R (D) 3T
(E) orfdiays

e 12

[ P.T.O.
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Choose the correct statements from the options given below:
a. The British Parliament passed the Indian Independence Act on July 05, 1947.
b. This Act was based on the Mountbatten Plan.
c. The Act got royal assent on August 10, 1947.
d. The Act was implemented on August 15, 1947.
Choose the most appropriate answer from the options given below:

(A) a,bandconly (B) a,banddonly
(C) a,canddonly (D) b,candd only
(E)  Question not attempted

1= Fe e Frhe @ e ot

a.  TafeRr a3 05 ST, 1947 i W warcrar stferfem i faram
b. g rfufEm wrSe S it ST 9 ST o

c. AW T 10 3T, 1947 i Tt Tfehfd wmH il

d. AT (W) 15 3T, 1947 T AR] o foam o

et few e fershedi o & warffers 3ug ST I:

(A) ada, b3 c (B) wdada,b3fd
(C) ada,c3d (D) HaADb, c I d
(E) raRduy

Who declared “the status of women should also be raised and women should be trained to take a larger and more
intelligent interest in public affairs” at the Maharashtra Provincial Conference in May, 1928?

(A)  Mahatma Gandhi (B) J.L.Nehru

(C)  Subhash Chandra Bose (D)  Bhagat Singh

(E)  Question not attempted

HETSE ST Feiet H3-1928 H o Sior oht “wfeetredl At Reerf shT oo &1 =fey S AfeeTs it ki Sar o qei
T J5e 3TN 317k awer § ®fa o o forg Sffara fera St =nfee?

(A)  HETcHT TITeft (B) I.TA. TE®
(C) T TEA" (D) q fiE
(E) raRduy

What will come in place of *?’

<9° S TAT YT I 9T ek JT?

60, 45, 32,21, 2
A) 16 (B) 12
© 14 D) 11

(E)  Question not attempted / 3T EVRSE )

What will come in place of ‘2’
<2 o T T T STTT?

O
5600

w —O— (B)

© d) (D)

(E)  Question not attempted / 34':!)?1'?(?{ BE)
e 13 [ P.T.O.
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63 Some symbols are represented by letters as shown below:

% WclTehT BT ST&RT g qRTTaT T & S foh <fier faama mam 2
+ = x|+=|=]|>|<
BIG|E|C|D|A|F

Which of the following expression is most appropriate?

7 8 % W waifee 3ug =S o7
(A) 15C 15B8F 4B 6C 2 (B) 15B 5G 8B 4G 6F 3
(C) 15C 5F 8C4B 6C 3 (D) 15A 5E 8C 4B 6E 3

(E)  Question not attempted / 31@?!'?{3 BES
64 Which of the following statements is not correct about the Gondwana Coal?
(A)  The Gondwana coal belong to the carboniferous period.
(B) Itis found in Damodar, Mahanadi, Godavari and Narmada valley.
(C)  Itis mainly peat and lignite type of coal.
(D)  Raniganj, Jharia, Tata Pani and Himgiri are some of the important coal mines of Gondwana formation.
(E)  Question not attempted

TTSaT el 3 i H e 3 & o | she a1 22

(A) TSI FHITAT FHISTHE il H Heiferd 2

(B) € TS, WETa, Meradt 37 THeT =1el | uraiT Sirar 2

(C) ¥ qEaa: ie 3Tk fomTse Yo 1 e 2|

(D) TS, ST, STt 37 fem iy, e o o e T i @ o

(B) o1« e

65 Kattha is extracted from the inner wood of which tree?
(A) Kultree (B) Kusum tree
(C)  Khair tree (D)  Mulberry tree

(E)  Question not attempted

T hi-H J&F hl ST TIohe! § TH FoRaT SITaT &2

(A) FAIF (B) FYAUS
(©) wWug (D) ¥Eqd Ug
(E)  oFdia u

66  Take the given two statements to be true even if they seem to be at variance from commonly known facts, then decide
which conclusion would follow on the basis of given statements?
Statements I : No Apple is Banana.
Some Bananas are grapes.
Conclusion II : I. No Apple are grapes.
I1. All Apples are grapes is a possibility.
In light of the above statements, choose the most appropriate answer from the options given below:
(A)  Only conclusion I follows. (B)  Only conclusion II follows.
(C)  Both conclusion I and II follow. (D)  Neither I nor II follows.
(E)  Question not attempted

SATIehT T T & AT Rl e AT ©, Wl €1 of I F1d a2 8 f= i 81 &1, 3TT9eh! I8 9 T & foh b @t
foreet farw T et o1 aTfeher w9 & SFEROT T 22
HATL: IS o T, hett T R
F e, I TE €
TR 112 L 73 ot o, S |
11 Tft &, S & ol HfreT 2
ST YT o AT H HHIRE forehedt § 8 gafiere Iag Sala :

(A) A e [ STTETT LT 8 (B)  hact e [1 T8 T 2
(C) 3T feepd [ 3R 11 T8 & B (D) T 3R EN 1 SFTET LT 2l
(E) oFfdia s

Al15]  $¢ 14 [ P.T.O.



67 Anoop told Munna, “Yesterday, I defeated the only brother of the daughter of my grandmother”. Whom did Anoop

defeat?
(A) Brother (B)  Father
(C) Son (D)  Cousin

(E)  Question not attempted

LT A {1 8 T, “shed H 7oAt AT AT Tt o gehedld I ohl & o) 3T 3 o g

(A) wE (B) fuarsir=r
€ TR (D) =R TE
(E)  oFdia
68 Which one among the following is a “Fossil Park™?
(A) Akal Wood (B) Keoladeo Ghana
(C)  Sariska (D)  Ranthambhore

(E)  Question not attempted

IR # | -1 “Sfared ures” 82

(A) FHRAIS (B)  haded IHT
(C) Hiw (D)  ToTHRIT
(E)  oFdia

69 Which of the following statements is not correct about Sahariya tribe of Rajasthan?
(A)  The habitat of Sahariya is South-Eastern Rajasthan, that too limited to Shahabad and Kishangan;j tehsils of
Baran district.
(B)  They have “gotra” like Chauhan, Dodia etc.
(C)  The chief of the tribe is called Tapara.
(D)  They worship several Gods and Goddesses, but their main god is “Behru Bharani”.
(E)  Question not attempted

frfafad & & F-91 o ToreT il geftEr St o o 8 e 76 22

(A) e 1 fHeme Sfaor.get Teree 1 8 3R a8 +ff A ot & wreTens 31 RS deeier ae & |ifid 2
(B) 3 =ieM, Sifean o1fe ¥ i g 2

(C) 3 SISl o HRGAT T qTST el STl 2

(D) o %3 qall I QeTHT oAl IS L & ) ITh 38 9T “oIE® W €|

(E)  oFdia

70 Arrange the following States / UT of India in descending order according to their population density (Census 2011).
a. Kerala b. West Bengal
c. Delhi d. Bihar
R o FfRad Tsat / Feamiad YasT &l 201 1 Sl ST o STTER O ST 5 & S8R STale! (ed) A |
e Hifs)

a. EZG] b. gf S srer
c. foeett d. IEHIY
Choose the most appropriate answer from the options given below:
it fow e fereredt o & waifare I9g® ST
(A) a,d,c,b (B) «¢,d,b,a
(©) «c¢c,a,d,b (D) a,d,b,c

(E)  Question not attempted / 3‘133?!'?{?[ EE
Al15]  $¢ 15 [ P.T.O.



71 Given below are two statements:
Statement (I) : Alluvial soils contain an adequate amount of Potassium, Phosphoric Acid and lime, which are ideal
for growth of sugarcane, paddy, wheat and other cereal and pulse crops.
Statement (II) : This soil contains enough quantity of Nitrogen.
In light of the above statements, choose the most appropriate answer from the options given below.
(A)  Both Statement (I) and Statement (IT) are correct.
(B)  Both Statement (I) and Statement (II) are incorrect.
(C)  Statement (I) is correct but Statement (II) is incorrect.
(D)  Statement (I) is incorrect but Statement (II) is correct.
(E)  Question not attempted
i g1 e few e :
U (I) : STei1g el H Tate 1 H qIeTsT, Siehi s Ui 371 =T T/ STt 2, S T, 91, T8 ST 3121 S 371 defe
FHA oh IcATE o foTT 3T1aet 2
HAF (1) : 39 Tt & garfy amm & rgee urft St 21
ST e o Tl H, A=t fow e foreredt & waiferes Iug S|

(A) A (1) 3T e (11) ST T 2 (B) & (I) e (11) SHT 7T &l
(C) e (1) Tt & AR e (1) Tetd 2l (D) A (I) TTeTd & Ao e (11) T 2
(E)  oFdita s

72 Among the following places in Rajasthan, where is the Pichola lake situated ?
(A)  Udaipur (B) Ajmer
(C) Bhilwara (D) Karauli

(E)  Question not attempted

Tt (fu=ste) sfter, T & fferfiaa o & for Torm & arft STt 82

(A)  IEAR (B) 3T

(C) fiearer (D) et

(E) oFfdia s

73 Which statements regarding Kuchamani Khayal are correct?

a. Kuchamani Khayal was started by the famous folk dramatist Lachhi Ram.
b. Chand Nilgiri, Rao Ridamal and Meera Mangal are the main khayals created by Lachhi Ram.
c. Kuchamani Khayal is not performed in an open theatre.
d. In this Khayal, players of Dhol, Sarangi, Clarinet and Dholak are the main accompanists.

Choose the most appropriate answer from the options given below:

(A) b, canddonly (B) a,candd only

(C) a,b, and c only (D) a,banddonly

(E)  Question not attempted

e e 5 o e 8 - o ) 8
a. AN T THE Sl IR st TH FRT Y& foha TR ol
b, dieAn, Ta fere o i #re, Test T g T S @ d
¢ FHATHON AT e Tk A1eaRmet (fraex) # freafea 72 fopa s 21
d. U U B, Wi, TS SR Bleteh desh T& Hedlh 2id &)

et fow e foreredt o & waifere I9gE ST

(A) FaAb, c A (B) A a,c3d
(C) FHacTa, b3 c (D) FacTa, bAd
(E)  oFdia

Al15]  $¢ 16 [ P.T.O.



74 Which fair was started by Kachhwaha’s to cherish their victory over Chandra Meena?
(A)  Bhartrhari fair (B)  Pushkar fair
(C)  Khalkani Mata Donkey fair (D)  Diggi Kalyan ji fair

(E)  Question not attempted

T3 HIOT o fooRT 6T Scqa H o ToTT FeaTel ST S HH-|1 HelT 30 foha T

(A) VTR HaT (B) TR HAT
(C)  WAHvft ATaT Soht Tt (D) Tt s St o
(E) raRauy

75 Choose the most appropriate antonym of the word “Ancient” from below :
(A) Insult (B) Rough
(C)  Destroy (D) Modern

(E)  Question not attempted

76 For the sentence given, choose the most appropriate answer in reported speech from the options below:
Ravi said, “My mother is going to her home town.”
(A)  Ravi said that his mother will go to her home town.
(B)  Ravi said that his mother has gone to her home town.
(C)  Ravi said that his mother was going to her home town.
(D)  Ravi said that his mother had gone to her home town.

(E)  Question not attempted

77 In 1859, ‘Relief of Lucknow’ painting was painted by
(A)  Thomas Jones Barker (B)  Campbell
(C) Oubam (D) Havelock

(E)  Question not attempted
forereh gRT 1859 1, “Fiefieh 3116 Ta=e:” o (painting) ST Tt oft?

(A) oI ST e (B) HFRE
(C) 3T=m (D) TR
(E) raRauy
78  The University Education Commission was set-up in the year under the Chairmanship of Dr. S.
Radhakrishnan.
1. T, THTH 3 STLALAT H forgferamerdr [R1efm SRR 2l TToET 17 § a9 H §57
(A) 1947 (B) 1948
(©) 1951 (D) 1953

(E)  Question not attempted / 3311?!'?{?[ EE)

Al15]  $¢ 17 [ P.T.O.
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Given below are two statements:

Statement (I) : Most of the rulers of the princely states after Independence of India were averse to join the Constituent
Assembly.

Statement (II) : This response of rulers of the princely states meant that after independence there was a very real
possibility that India would get further divided into a number of small countries.

In light of the above statements, choose the most appropriate answer from the options given below:

(A)  Both Statement (I) and Statement (II) are correct.

(B)  Both Statement (I) and Statement (II) are incorrect.

(C)  Statement (I) is correct but Statement (II) is incorrect.

(D)  Statement (I) is incorrect but Statement (II) is correct.

(E)  Question not attempted

frar et e few U €

AT (I) : WA 3 ST % Sl1a RATAAT o s e ST 47 H T3 o foreg, 2

U (1) : VRN TSTETSH 31 36 ST b1 372 T foh ToIcAdT o SfTa Uk sTg ! GTaT off foh Wikl g ®1¢ S311 | sf STl
STUTH FHHT o6 AT H, = fu e foepedt § & warg 3uge ST o

(A) A (1) 3R FHeH (11) ST T 2 (B) & (I) 3R e (11) SHT &1 et &
(C) A (1) Tt R AT e (1) el 21 (D) A (1) TTeTd & AR e (I1) w21
(E)  oFdia g

Which of the following districts of Rajasthan is famous for the highest production of wheat in year 2022-23 in
the state ?

(A)  Sri Ganganagar (B)  Jaisalmer

(C) Bundi (D) Kota

(E)  Question not attempted

TSTET o 3 3 & et e ad 2022-23 5 T3 5 1 o Taioreh 3eated o forg wfeg 82

(A)  oft TR (B) SN

© & (D) I

(E) oFfdia s

Which among the following is not an Agro based Industry in the state of Rajasthan?
(A) Dal Mills (B) Rice Mills

(C)  Iron and Steel Industry (D)  Cotton Industry

(E)  Question not attempted

TSTE U5 ¥ Frfafaa § & o a1 s Sy st e e 22

(A) Tt (B) et firet
(C)  itg 3R gwuTa 3T (D) U &
(E)  oFeia

Which of the following is not a web browser?

(A)  Mozilla Firefox (B)  Safari

(C)  Opera (D)  Gmail
(E)  Question not attempted

Frefafaa § @ si-91 o9 ek 7 82

(A) TSI BRHEE (B) TR

(C) TR (D) Sfie
() SFfaiayy

e 18 [ P.T.O.



83 Which of the following statements is not true with regard to the Comptroller and Auditor General of India?
a. The CAG is appoited by the President of India.
b. The CAG can be removed on the recommendation of the President of Inidia.
The salary and allowances of the CAG are charged on the consolidated fund of India.
d. The Tenure of CAG is fixed for five years.
Choose the most appropriate answer from the options given below:
(A) a,canddonly (B) a,bandconly
(C) b,canddonly (D) a,banddonly
(E)  Question not attempted

freforfiad § @ s 9 s witd 3 f3isres 3 AeTeaTiiers o o1 § el 7 &2

a. T (CAG) I R o Trgufer ok T 1k forarm Stra 2
b. A o USgATd  STHIGH T HT (CAG) T ST ST HehelT 2
c. T (CAG) T Ia 3TN 9 WRa =l Tifera ffer & for i &
d.  FT(CAG) 1 Frehe 5 ared o for i war 2
et fow e foreredt o & waifae I9g® ST
(A) Hada,cId (B) wdada,b3Nc
(C) adb,c 3 d (D) ada,b3Ad
() SAgaiays

84 Which of the following provisions of the Indian Constitution deals with the appointment and dismissal of the Council

of Ministers?
(A)  Article 70 (B) Article 72
(C) Article 74 (D) Article 75

(E)  Question not attempted

Trwiferfiae o & vt wiferer <61 st | Srere wtig S Ry S vesgd 9 Hety w22

(C)  3FF=se 74 (D)  3FT=BT 75
(E) raRauy

85 The rate at which Reserve Bank of India lends money to commercial banks is called

(A) CRR (B)  Reverse Repo Rate
(C©) SLR (D)  Repo Rate
(E)  Question not attempted
S @ & v st o afurfoersh St s o U 3T 2, 39 FEd 8
(A) ©F 3R, AR, (B) fEdgwE
(C) TH. TH. AR, (D) WE
(E)  oFeia
86  As per the Budget 2024-25, the fiscal deficit is estimated to remain of GDP in 2024-25.
FISTE 2024-25 3T U o STTET TSRS BT Y 2024-25 H Fehet BT 3cTG bl T T ST 2
(A 51% B)  5.5%
©) 58% D) 4.9%

(E)  Question not attempted / 3511?!'?{?[ EE)

Al15]  $¢ 19 [ P.T.O.



87 In which year the Indian Government launched the New Economic Policy of India? (Choose the most appropriate
option from below)
IR §hR - Tohe N W W shl el 3ATTeleh ATl 6 TR Foram? (e o o werl SwRIeh forehed <)
(A) 1992 (B) 1991
(C) 1990 (D) 1993
(E)  Question not attempted / 34':!)?!'?(?[ g9

88 Who from the following has the primary responsibility of distribution of the food grains in India?
(A)  Bureau of Indian Standards (B)  Food Corporation of India
(C)  Food Safety and Standard Authority of India (D) Employee’s State Insurance
(E)  Question not attempted

WA H FTiad # & @ o foror i 7 feRr foreeht 272

(A)  TRAT H HEA (B) et @ e
(C) VIR WTer Gt 7R AT STfershuor (D)  FHHSTIET T T ST
(E)  oFdia

89  Which country’s armed forces were awarded the coveted ‘Golden Owl” award for their outstanding performance in
Dec 2023? (Choose the most appropriate option from below)
(A) India (B) China
(C)  SriLanka (D)  Singapore
(E)  Question not attempted

fore <21 o e sl =Rl fowiar 2023 H 39 IcpT YT 2] S Tieed AT JHH & gafssid foram 82 (R 3 & vl

SUh ferehed =)
(A) WRd (B) =
(C)  ficter (D) T
() Srgaiays
920 Who was appointed as the first woman Chief Justice of Uttarakhand High Court?
(A) Ruma Pal (B)  Ritu Bahri
(C) Hima Kohli (D) Indira Banarjee

(E)  Question not attempted

ST Ioa AT 1 Teel| Aieet g =Areter o e formm mn &2

(A) ®HTUS B) fge=d
(C) femr et (D)  sfewr st
() SFgdiays

91 Which one of the following is not the mode of Social media?
(A)  Facebook (B) Twitter
(C) Broadband (D) Blogging
(E)  Question not attempted

IR H | 9 |1 ARTe HiTSAT 1 71w (1) 781 82

(A) B) fme
(C) sifess (D) seiifim
(E) raRduy

Al15]  $¢ 20 [ P.T.O.



92 Who of the following space travellers born in India died in space shuttle of Columbia during its returning?
(A) Kalpana Chawla (B)  Sunita Williams
(C) Ritu Karidhal (D)  Sirisha Bandla
(E)  Question not attempted

T 5 & o7 § ST, i i siatver andt oft Rt aroedt 3 G shicifsr o siafte 9 # gog a1 e off?

(A) AT FTET (B)  gfter forforzea
(C) Trghftae (D) Torfeem sriger
(E)  oFdia u

93 Which of the following are not the Artificial Intelligence (Al) related projects initiated by the Rajasthan Government?
(A) RaBOT (B)  Revenue Intelligence & Analytics
(C) UID (D)  Audio Analytics
(E)  Question not attempted

FTTia © & 9 € TS SR T & i T8 SRR 3efesig (T, 311E.) § Heifed aiEismm 72 82

(A) TSER (B) TS Gitpar S forswor
(C) 7 R (D)  iifean umfefesa
(E) raRauy

94  For the word given in Hindi, choose the most appropriate word in English from the options below:
CREREID]
(A) tenable (B)  acceptable
(C)  unacceptable (D)  untenable
(E)  Question not attempted
95 From which generation of computer the use of Integrated Circuits (IC) started?
(A)  First Generation (B)  Second Generation
(C)  Third Generation (D)  Fourth Generation
(E)  Question not attempted

RIS T B H e & $EeE wfdhe (1S, #.) 1 I E g 22

(A) el et (B)  gElldiet
(C) e it (D) =itefi ot
(E) raRauy

96 A set of wires which carries a group of bits simultaneously, that is, in parallel, and has an associated control scheme

is known as :
(A)  wires (B) data cables
(C) Bus (D)  Registers

(E)  Question not attempted
TR T Uk AHE ST Uk @1 (I8 o T |98 i of ST &, AT ST H, S T Hellerd 0T ST o &9 # S S
S

(A) ari (B) ¥
(C) == (D) TSR
(E)  oFdia

Al15]  $¢ 21 [ P.T.O.
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The name of the first Indian Satellite is :

(A) Bhaskar-1 (B)  Insat-I

(C)  Aryabhatt (D) Kalpana

(E)  Question not attempted

SO TRATS ST T AT 2

(A) AR (B) eI

(C) SArvE (D) AT

() SFfdiayy

Which part of the telephone device accepts voice and sends that information in the form of electromagnetic moves?
(A)  Receiver (B) Cable

(C) Dialer (D)  Mouth Piece

(E)  Question not attempted

AP ST T I8 I | AT & ST TS bl T THR AT & SR I8 a1 i Tl Trarehid qt o &9 5 ST 22

A

(A) feeR (B) e

(©) sE (D) HHYdE
(E)  oFeia

In Olympic 2024, India was at spot in the medals tally?

(A) 17™ B) 71

(C) 37t D) 91

(E)  Question not attempted

3Tk 2024 T WRA T&e qforen H T TR

(A 174 B) 713

(©) 374 D) 913

() SFgaiays

Which state hosted Outlook Planet Sustainability Summit and Awards-2024?
(A) Rajasthan (B)  Maharashtra
(C) Goa (D) Tamil Nadu

(E)  Question not attempted

fore T 7 HAT3eqH wive eefafore! afife U SFared 2024 i Hea 2

(A) TSI (B) HEWTSE

(C) T (D) dfHeTg

(E) orfdia s

‘Deputation’ IMeq <hl Rt g Teg BT

(A)  wafafe ®) fEw

(€) Rrzwvsa e (D) fwavEa

(E) oFfdiays

frefafaa o & fofm ararelt e e 2-

(A) TR E AUuRRE R (B)  &a Grft STt |
(C) v ETE 2 (D) T 3TeTueRT 21
(E)  oFeia u

e 22

[ P.T.O.
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AT T HETaR 1 R 31l 22
(A) €ETeT (B) faas gzamr
) fomfemm=m (D) THEERW
(E) oFfdia s
frefeafaa for wrsat 7 aqor afeer 22

a. ToI= b. =31

c. T d. IEGEI

e. —d
et fow T fershedt § & waffares g S
(A) Hada3Fb (B) had ¢ 3R d
(C) FHaAdMe (D) HaAe 3N a
(E) oFfdiays
Ferar e i g

AT - 1 : ST (oS! 1 Elrerm e il & TSIl SR el T il WX T § L L&l 2
U - 11 : TR fohaTatl T e 3 T gl €| S o forT 37kt 37l g0 el &1 @bl
SUYTH AT o AT H (THfARad faeredl § & aaffaes Iug Sl 9 :

(A) AT T AT T & (B) Y [ 3T 11 T 30T &

(C) FHAIEAT, o T 11 A E | (D) wFFIsEAE, FqFAIaas

(E) oFfaiays

‘STEH T qUTH fore E-

(A)  STHfed AT (B)  3THg STHT

(C)  3TTE | o g3T (D) 3THE & 3THg

(E) oFdia s

Which of the following is NOT a large scale Industry in India? (Choose the most appropriate option from below)
(A)  Jute Industry (B) Khadi and Village Industry

(C)  Iron and Steel Industry (D)  Cotton Textile Industry

(E)  Question not attempted

frefaRad & & Fi-A1 YR # 98q A0t 1 I & 82 (e 1§ & werd 39 forshed )

(A)  9ET I (B) Wl ST ITHRINT
(C)  itg 3R gwTa 3T (D)  Hll ST &N
(E)  oFdia

The first Vice Chairman of NITT AYOG was .

(A) Narendra Modi (B)  Arun Jaitley

(C) Nandan Nilekani (D)  Arvind Panagariya
(E)  Question not attempted

fifer STRITT %6 e JuTee A A2

(A) TEOE (B)  3TRUT Sieedt

(C) e fFerreft (D)  3Rfdg yamfean
() SIfaiays

In which of the following budget year, the Railway Budget was merged with the Union Budget?
frfaRaa 5 @ forg sete o & W@a o1 aI51e €9 o sisie § Sfet forar /i 2

(A) 2015-16 (B) 2016-17

(C) 2017-18 (D) 2018-19

(E)  Question not attempted / 31':!)?!'?(?[ BE)

g 23 [ P.T.O.



110 In the sentence given, replace the underlined words, choosing the most suitable idiom from the options below:
He was arrested without being given a reason.

(A) over and above (B)  for no rhyme or reason
(C) atodds and ends (D)  outand out.
(E)  Question not attempted

111  For the given sentence, choose the most appropriate answer from the options below:
The language and style of a formal letter is-
(A) lengthy (B)  chatty
(C)  very friendly (D)  polite and brief
(E)  Question not attempted

112 f=ferfiaa & = 9 wee foesft 22

(A)  fash (B) A
(C) wEW (D) fomer
() SFgaiays
13 P i & s 1 ae suges watemh i
(A) == (B) @&
(C) i (D) R
(E) 3qd e
114  Complete the sentence by choosing the most suitable article from the options given below:
Please get me  umbrella when I go out shopping as the monsoons are approaching.
(A) the (B) a
(C) No Article (D) an

(E)  Question not attempted

115  Complete the sentence by choosing the most appropriate preposition from the options given below:

I reached the school the gates closed.
(A) later (B)  Dbefore
(C©) by (D) from

(E)  Question not attempted
116  Match List-I with List-II:

List-I (Words) List-II (Synonyms)

a. generous L. esteem

b. honour I1. ridiculous

c. absurd II.  achieve

d. accomplish IV.  charitable
Choose the most appropriate answer from the options given below:
(A) a-Lb-ILc-LLd-1V (B) a-1Lb-IV,c-Ld-1I
(C) a-1V,b-Lc-ILd-1II (D) a-I,b-ULc-1V,d-1

(E)  Question not attempted

117 Who amongst the following Indians has been recently selected for the ‘Goldman Environmental Prize 2024°?
(A) Ramesh Agrawal (B)  Alok Shukla
(C)  Tulsi Gowda (D)  Rajendra Singh
(E)  Question not attempted

BT B | T 5 & oy Tt o7 = Tafor veiaror qUeshit 2024 89 g1 82

(A) TSI ST (B) el Yqerell
(C) qet e (D) Tz fiE
() Srgdiayy

Al15]  $¢ 24 [ P.T.O.
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Which of the following is the starting point of the Ram Setu in India?

(A)  Thanjavur (B) Madurai
(C)  Arichal Munai (D)  Shivaganga
(E)  Question not attempted

WA FreAfcrfierd 3 & 1 |1 T s e foig 22

(A) TSR (B) Hg&
() =TT (D) T
(E) oFfdia s

Which Union Ministry launched the ‘Swachh Sarvekshan 2023’ - Mera Shahar, Meri Pehchan’ survey? (Choose the
most appropriate option from below)

(A)  Ministry of Housing and Urban Affairs (MoHUA)

(B)  Ministry of MSME

(C)  Ministry of Jal Shakti

(D)  Ministry of Tourism

(E)  Question not attempted

fore TATer < T WAEIT 2023 - HU WEL W UEE ) Heaqor YRR o (e H 6 we ST foshed o)

(A)  SATETE 3T I S Toe (B) UH.UH.UH. 3. HATAT

(C) S wfh wWarTerT (D) Wi HAE

(E) orfdiayy

Pradhan Mantri Krishi Sinchaiyee Yojana (PMKSY) was implemented in Rajasthan from the year
TSTET B e Tt T RS e (durehuges) e & oy 1 T off

(A) 2015-16 (B) 2017-18

(C) 2019-20 (D) 2020-21

(E)  Question not attempted / 3T e

Rajasthan Agricultural Research Institute is situated at which of the following cities ?
(A)  Jodhpur (B)  Udaipur

(C)  Jaipur (D) Mount Abu

(E)  Question not attempted

TSTET 1Y STTEET S e 7 & foper St 7 feerq 22

(A) SUR (B) IR

€) AL (D) TS 3T

(E) ordia

Ramganj Mandi, also known as coriander city, is situated near which of the following cities of Rajasthan?
(A)  Jodhpur (B)  Udaipur

(C)  Sriganganagar (D) Kota

(E)  Question not attempted

TSt B, o 3= S8t & 9 @ S St 8, FRefefad 3§ & veree 3 g wet & aidiens feera 292

(A) S (B) 3R
(C) iR (D) T
(E)  oFdia

Where is the principal seat of Rajasthan High Court located?

(A) Barmer (B) Ajmer
(C) Kota (D)  Jodhpur

(E)  Question not attempted
TSTEAT I =merd 3t e Hie (fifave e ) et feerd 22

(A) STEH (B) I
(C) i (D) g
(E)  oFdia s

g 25 [ P.T.O.



124  Who was the State Election Commissioner of Rajasthan during 2023?
(A) N.R. Bhasin (B) Inderjit Khanna
(C)  Madukar Gupta (D)  Amar Singh Rathor
(E)  Question not attempted
Y 2023 H USTEA o6 T IS I i A2

(A) TR 9= (B)  ESitd @
(C)  WYFTIHT (D) R fHE WeR
(E) oFdia s

125  The Khilafat movement was led by -
(A) Mahatma Gandhi and Khan Abdul Gaffar Khan (B)  Mohammad Ali and Shaukat Ali
(C) Bal Gangadhar Tilak and Vipin Chandra Pal (D) Mabharaja Hari Singh and Shaukat Ali
(E)  Question not attempted

Raerea stidier a1 Jqed fohaeh g foram T em?

(A)  HETCHT T S W Sogel THER G (B)  HIEHE 3Tt 37T Itk o7eft
(C) =t e forerek S farfum =g urer (D)  wERTST g g 3T witehd o7eft
(E)  oFdia

126  The famous speech addressed by the first Prime Minister of India Jawaharlal Nehru at the hour of midinght on 14-15
August 1947, is known as: (Choose the most appropriate option from below)
(A)  Wings of Challenges (B)  Independent India
(C)  Tryst with Destiny (D)  Hope for the better future

(E)  Question not attempted
A o ol T oA} STaTet ATt He% 510 6 1947 % 14-15 STTE il weaify i 3w 7o wferg, sirwor <t forgr 3 & S

ST 82 (1 5 8 He S forehed o)
(A) TomE AT Jei (B) sfreuee 3feam
€) fomfae it (D) B9 B T S R
() SAgaiayy
127  In the fourth phase of integration of Rajasthan, which four princely states merged into Greater Rajasthan?
(A) Kota, Tonk , Bundi, Jhalawar (B)  Pratapgarh, Dungarpur, Kishangarh, Shahpura
(C)  Alwar, Bharatpur, Dholpur, Karauli (D)  Jaipur, Jodhpur, Bikaner, Jaisalmer

(E)  Question not attempted

TISTET o WehIehLOT o =1 =107 § fofiet = fearmera ot e Tstear H forer g

(A) e, ek, S, HeaTs (B) AT, SR, FoheTa, SMeq
(C) A, WA, AT, it (D) S, ST, ST, St
() SAfdiayy

128 When did Netaji Subhash Chandra Bose proclaimed the setting up of the provisional government of free India at

Singapore?
(A) 215t October 1943 (B) 220 October 1943
(C) 23 October 1943 (D) 24" October 1943

(E)  Question not attempted

TSI AT <5 S o TR H s W ol et (SforsTer) Serr i TToHT shi ST fore arie a1 < off?

(A) 21 TR 1943 (B) 22 TR 1943
(C) 23 TR 1943 (D) 24 TR 1943
(E) ¥af@ws

Al15]  $¢ 26 [ P.T.O.



129  Where is the archaeological site of “Civilization of Balathal” situated?
(A)  Vallabhnagar, Udaipur (B)  Mount Abu, Sirohi
(C) Hanumangarh (D)  Ajmer
(E)  Question not attempted
““STCTYICT ST T JUIcd T el e 22

(A) AV, IR (B) e 31T, fotiet
(C) BN (D) 3R
(E)  oFaia g

130  In which year Prithivi Raj III defeated Chandel Ruler of Mahoba?
(A) 1181 AD. (B) 1182 AD.
(C) 1191 AD. (D) 1192 AD.
(E)  Question not attempted

Torer o & geaf} TS 111 = HETST o ITHeh Tl 2l BURIT T

(A) 1181%. (B) 1182%.
(C) 1191%. (D) 1192%.
(E) oFfdia g

131  “Saheliyon ki Bari” a popular tourist destination in Udaipur was built by .
(A) Maharana Shambhu Singh-I (B) Maharana Sangram Singh - II
(C) Mabharaja Surajmal (D) Mabharaja Udai Singh
(E)  Question not attempted

S T Tk g TRiesh Toret “HRlcTall shl SISt fehrereh ST ST 71T o |

(A)  HERN 3y -1 (B)  WERT Ty f¥E-11
(C) TR oA (D) HERIST 339 f&g
() SFfdiays

132 ‘Rane Jagpat Ra Marasya’ was written to mourn the death of which ruler?
(A) Mabharaja Janak Singh (B)  Mabharaja Jagat Singh
(C) Mabharaja Jeevan Singh (D)  Mabharaja Jaideep Singh
(E)  Question not attempted

TIOT ST T AT Foh TTEe shi 70 31 301eh 7 o forg foreelt it oft

(A) TR e fig (B) WRNST S g
(C) S Sfie fig (D) TR Sdiy fig
() Srgdiays
133 Who, amongst the following famous artists, has represented Rajasthan in the Bharat Utsav in ‘Bahrupia Kala’?
(A)  Jamna Lal Bhatt (B)  Janki Lal Bhand
(C)  Amar Singh Rathore (D)  Jai Singh Rathore

(E)  Question not attempted

fmfafad & @ fore gftrg et 3 IR 3caa | TS0 HeAl § TSTEA o1 fdifered fham?

(A)  SHATAT Wg (B) SIHehI AT Wig
) e ude (D) = fHe we
(E)  oFeia w

Al15]  $¢ 27 [ P.T.O.



134 Match List-I with List-1I

List-I (Chhatri) List-IT (Places)
a. Chhatri of Sawai Jai Singh L. Alwar
b. Chbhatri of Musi Rani II. Ramgarh
c. Chhatri of Gopal Singh II.  Gatore
d. Sethon ki Chhatri IV. Karauli
Gefi-1 o wrer g=fi-11 1 e shifsg
g1 () FEA-11 (FTT)
a. oo o i i zad L 3R
b, wE T AT Al . e
c. TS f4E S HA! . R
d. w3 BA V. it
Choose the most appropriate answer from the options given below:
it fow e foreredt © @ waifare I9gw® S
(A) a-Lb-Il,c-1I,d-1V (B) a-I,b-Ic-1IV,d-1II
(©) a-1V,b-Ill,c-1,d-1I (D) a-HlLb-Lc-1V,d-1I

(E)  Question not attempted / 3T e

135  Who is famous as “Wagad Ki Meera’?

(A) RanaBai (B) Karmawati
(C) Gavri Bai (D)  Panna Dhai
(E)  Question not attempted
GRS T HI & A0 & i IFeg 22
(A) TS (B)  HHied
(C) TEdeTs (D) TAT Y™
(E)  oFdia

136  Blue Revolution in India was launched during the period :
(A)  1975-1980 (B)  1980-1985
(C)  1985-1990 (D)  1990-1995

(E)  Question not attempted

ard | et shifd fore sremafer 9§ arey i s off?

(A) E11975-1980 (B) ®11980-1985
(C) E11985-1990 (D)  ®11990-1995
(E)  oFdia

137  In which of the following, Rajasthan is the largest producer in the country?
(A)  Wheat (B) Rice
(C) Wool (D) Tea

(E)  Question not attempted

TSTET 9L <x1 # Fferfiaa # & fopesht gaifoss Scareeh U9 87

(A) W (B) =m&Ew
© A (D) =™
(E)  oFdita w

Al15]  $¢ 28 [ P.T.O.



138  Which of the following dams of Rajasthan is for both irrigation and Hydroelectricity? (Choose the most appropriate
option from below)
(A) Ram Sagar Dam (B)  Rana Pratap Sagar Dam
(C) Meja Dam (D) Jawai Dam
(E)  Question not attempted

et & frfafiad § & i | sty 8 e fi=mg it st foega Mt o forg swam fera s 22 (e 3 9 wed S

T =)

(A)  THIEFR EY (B) O 919 G SR
(€) BTy (D) SEE Ay

(E) oFfdiays

139  Which of the following taxes is not levied and collected by the State Government of Rajasthan?
(A) Taxes on Agricultural Income (B) Taxes on land and structure
(C)  Road/Vehicle Tax (D) Income Tax
(E)  Question not attempted

frefafiga § @ w9 a1 3 TSE™ UT SRR 1T T o Sufed T o sar 22

(A) TR (B)  fir ST Tt WA
(C) TgH/dTET T (D) AR
() SFfdiaus

140  Which of the following is not a salient feature of the Indian Constitution?
(A)  Lengtheist written Constitution (B)  Universal Adult Franchise
(C)  Provisions drawn from various sources (D)  Provision of Dual citizenship

(E)  Question not attempted

fforfiad @ & i €t Wt wfore <t ueh g forin 72 82

(A) g e fafaa wfeem (B)  wravifires g HATRehR
(C) fafw= =l & fore T grerem (D) el ANTHERAT T JTae
(E) raRauy

141  Which of the following options is arranged in descending order of their storage size?
TS T o ST o STTEN (7T 8 & -4 foreed STalie! (Fed) M H SFafead 82
(A) MB, KB, Byte, Nibble (B) Nibble, KB, MB, GB
(C) Bit, MB, Nibble, KB (D) Bit, GB, KB, MB
(E)  Question not attempted / ﬂﬁﬁﬁ 94

142 PARAM is a series of assembled in India by C-DAC, Pune.
(A)  Mini Computer (B)  Super Computer
(C)  Micro Computer (D)  Mainframe Computer
(E)  Question not attempted
KL o1 U et &, f freeh, qo1 g s § srewaret o
(A) Tl sz (B) HWHIH
(C)  HTEhI R (D)  HTOH I
() SFfdiaus
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Which generation of computers uses Vacuum tubes for Circuitry and Magnetic drum of Memory?
(A)  First generation (B)  Second generation
(C)  Third generation (D)  Fourth generation

(E)  Question not attempted

L T i ST wfehedl 3 Hee g0 A o TeTT SR 2 T IURITT fofpa ST 22

(A) e did (B) zE{dI
(C) el e (D) =ireft et
(E) 3raRauy

Duduma waterfall is located in which of the following state?

(A)  West Bengal (B)  Andhra Pradesh
(C)  Jharkahand (D)  Odisha

(E)  Question not attempted

Tt 3 & forr Troer 9 g SteryT Rerd 27

(A) 3 srer (B) AT I

(©) FREE (D)  ifesm

(E) IraRauy

Name the left bank tributary of the Brahmaputra River?

(A)  Subansiri (B) Kameng
(C)  Burhi Dihing (D)  Sankosh
(E)  Question not attempted

SR a1 o S A ohl AT AT T A7 15T -

(A) geAred (B) &
(€) e fafdn (D) G
(E) IraRauy

The Western Ghats are known as ‘Sahyadri’ in which state?
(A) Karnataka (B)  Mabharashtra
(C) Tamil Nadu (D) Kerala

(E)  Question not attempted

Tt =rel o1 fore TS § “HRITE o A1 U ST ST 22

(A)  wleh (B) WeWT
(C) dfierg (D) A
(E) IraRauy

e 30
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Bifocal lens is used to correct the defect of: (Choose the most appropriate option from below)
(A) Myopia (B)  Presbyopia

(C) Cataract (D)  Hypermetropia

(E)  Question not attempted

STEWIhE i T ST freAferfiara o | fermrehl sheft ot qU ot o forw, foarm mar &2 (e o 9 wrerd Sk fereres 1)

(A)  TrregfEdm (B)  SHI-gIGfEdT &I (e #)
() W (D)  ETETHSITRT
(E) raRauy
The adult human dental formula is:
I T & G 2
2112 2122
A 5 B 1
2123 2213
© 5z ) vy

2123
(E)  Question not attempted / 3T EVRSE )

2213

Given below are two statements:

Statement (I): Blood transfusion is a method in which blood or blood products are transferred from the circulatory
system of one person to another.

Statement (II): The first blood transfusion was carried out by Karl Landsteiner.

In light of the above statements, choose the most appropriate answer from the options given below:

(A)  Both Statement (I) and Statement (IT) are true.

(B)  Both Statement (I) and Statement (II) are false.

(C)  Statement (I) is true but Statement (I1) is false.

(D)  Statement (I) is false but Statement (II) is true.

(E)  Question not attempted

et @ e fag e &

AT 1 2 Teh AT (ZERS) Tk TGl & Forers Tk 2k o g A eh o TRl = H Teh ScdTal Al Tch ohl Gl fefa
ST 21

R 11 : TEAT Tk HolUT et TUSESTL T FoRa T ol

U O o ATl # Frffad foepedi § & waffarsd 3ug® Sa 9 -

(A) I (1) 3R HAA (11) SHT TT 2 (B) & (1) 3R H (II) THT 318 2|
(C) oM (1) T & T o (1) 318 2 (D) o (1) 379 & fohd e (I1) T 2
(E)  oFdia w

Which of the following is incorrectly matched?

(A) Washing soda - Na,CO, (B)  Bleaching powder - CaO
(C) Plaster of Paris - CaSO4% H,O (D)  Baking soda - NaHCO,
(E)  Question not attempted

Frefafaa o @ foreept farem ot 7= 22

(A)  STRATERET - Na,CO, (B) ST UI8et-CaO

(C)  TITET 3ATE Ufed- CaSO4%H20 (D) ST |I-T NaHCO,

(E)  oFdia

e 31 [ P.T.O.
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